1.

432 =3x+2=09 F 22 0. T W, 32 -2)(38-2)2

Foa?

= A2l BA ol os)

a,_|_’3_§aﬁ—1
(Ba—2)(38-2) =9aB - 6(a+B) + 4
1 3
:9.5_ .Z_|_4




3
a*=3a+1=09 M, a® - 2a + —— S} g2
a’+1

a?-3a+1=0°A

a® - 2a+ —a—1+i—a+l_1
{12-‘1—1_ 3a_ a
T, 0 - 3a+1=0°] FHL 2 P

1 1
a_3+_:0 ...a+—:3
a a

~(EA)= (a - 1) —1=2




VAP 2 4 20y~ Dx+y2 +ky-3 =09 F
2] Z4o] 9stel

StH P +ax+b=09 F <O a, go|H
¥ +ax+b=(x-a)(x-p)°l2L

FAlo] x, y O] YapA o2 QIR HER
x 9 T Z AN —(2+k)y + 47t SAAF
ujel A o kel WEA D L olojof gk,

2+k=0
" k=-

y ol S O1RHALf(x, 3) = 2% + 20y~ D +32 +ky =3 ©] x, y 9
o2 Q5pefE o, 4% & © ¢ o7

m
tlo
3
)

—@—l)ixﬂy—U2—03+ky—$
(y 1) (2+k)y+4 ...... @

o] wlofof g},

D=(2+k?2-4-0-4=0




A& WAL 12 4 br 4 o= 0012} oH
24+ bx+(c+1) =09 &2 FZo] At
" D=b—4(c+1)=0

E 2 +bx+(c-3)=09 F 2 a, 27t Hoh
L a+2a=-b------ ©

@, ©, @A b= %12, c = 350| B2

S WAL x2 +12x+35=0

L x=-5FEE -7 x=5FEET7

TebA (5 20 AT W)= (£5)2 + (£7)2 = 74




5. A= oE F A5 a boll skl T FAA x2 + 2ax +b = 0}
x+2m+a=04I%LAXVPH§ 2o ), g, bo BAAL?

D a+b=0 @ a-b-1=0 ® a-b+1=0
@ a+b-1=0 (@)a+b+1:0

B ‘

x> +2ax+b=09 W& a, B

x> +2bx+a=09 &y, 52t olH
| =Bl = ly = 614
(@-p)%=(y-9)%

(@+p)* —daf = (y +06)* —4ys
(-2a)? — 4b = (-2b)? — 4a

“ (a=b)la+b+1)=0
a#bOlE2 a+b+1=0




